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1. Answer any ten questions : [2×10 = 20] 

 a) Define GNP and GDP 

 b) What is transfer income? 

 c) What is meant by CRR? 

 d) Define M1 and M3 as indicators of money supply 

 e) What is value of money? 

 f) Point out three selective credit Control policy instruments of Central Bank. 

 g) What is meant by ‘velocity of circulation of money’? 

 h) What is ‘inflationary gap’? 

 i) What is Stagflation? 

 j) What is ‘bank rate’? 

 k) What is meant by saving-investment equality? 

 l) If MPC = 0·5, find the value of investment multiplier. 

 m) What is Say’s law? 

 n) What is meant by Investment Multiplier? 

 o) What is meant by ‘credit-creation multiplier’? 
 

2. Answer any three questions : [5×3 = 15]  

 a) Define money. Explain the functions of money. [1+4] 

 b) Analyse the functions of commercial banks. [5] 

 c) Discuss the methods or instruments of quantitative credit control policy of central bank. [5] 

 d) Explain, briefly the functions of development bank. [5] 

 e) Define Keynesian consumption function. Discuss the concepts of APC and MPC in this context. [2+3] 
 

3. Answer any four questions : [10×4 = 40]  

 a) Discuss, briefly the methods of measuring National Income (NI). Point out the problems involved in 

such measurement. [6+4] 

 b) What is meant by credit creation? How does commercial banks create credit? [2+8] 

 c) Critically evaluate the Fisher’s version of ‘Quantity Theory of Money’. [10] 

 d) Analyse the theory of investment-multiplier with its limitations. [10] 

 e) Discuss, how equilibrium income and employment are determined in the classical theory. [10] 

 f) Explain, briefly the simple Keynesian model of income determination in a closed economy. [10] 

 g) Write short notes on : i) Effects of inflation 

    ii) Aggregate Supply curve in the Classical Model. [5+5] 
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